Practice Part 2 Questions for Final.

1) Solve the following system of equations graphically. Show all work. Label

the graph properly. CHECK your solution. g
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Be sure to:
e Graph the lines

e Clearly identify the solution
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2) Graph the following linear functuon and graph the line on the grid provided.

Slope:__ 9
Y-intercept: 2 (Cril>

Identify the slope |n each figure below.
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3) Graph the following on the one grid below.
A) Graph the image of the ABCD after a counter clockwise rotation of 90;.? Cof
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o Name the vertices of A'B'C'D’. ¢ ¢
e Label the coordinates of the vertices of A'B'C'D". J
B) Graph the image of A'B'C'D' after a reflection over the X-axis. VTU‘"‘(“ Q("{M}
e Name the vertices of A'B"'C"'D". I« Heck over ol X,si? B ' {a
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e Label the coordinates of the vertices of A"B"C''D". b

C) Graph the image of A"B"'C"'D" after a translation of T‘%i’
e Name the vertices of A”'B"'C"'D"". deﬁh&“&%ﬂi Kol | ”«J

e Label the coordinates of the vertices of AV BITCT DM,
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4) Determine the linear equation for the set of data represented below.
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Equation:

5) In the figure below, lines [ and m are parallel.
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a) Name the angle relationship between: <1and<2 éc{,df’);q lemeA }‘ZQTF‘Li

<2 and <3 Al'kmd—fi Hﬂ(“ii"iDl’

Find x. Set up an equation and solve. Show work.
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c) What is the angle measuremenf for 7
Explain your answer. X9 < “B" g0 = "Tx- 273
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7) a. Asolid cone, with a radius of 8 in., is placed inside of a 12.

cylindrical water jug of the same radius. How
the jug now hold with the solid cone inside of it?

5 in high

many cubic inches of water will
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b. A solid cylinder is placed in the cone to the right. The
cylinder has a radius of 2 and a height of 7. How much "
volume is left in the cone if the dimensions are all in =
meters?
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C: Fanny Farmer purchased a new silo which will be filled with grain. The silo
consists of a cylinder top and conical bottom. How many

cubic feet of grain can the silo hold? T
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9. Find the area of the shaded region. Write a description of your strategy for

solving the problem first. Show all work. Give both the exact answer, and to
N thenearest tenth.”
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